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Subject Code: 320020 Date: 14-06-2013
Subject Name: S.Q.C. in Textile
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Instructions:

1. Attempt any five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Explain ,in detail, about frequency distribution.
Explain Histogram with suitable example.

Explain ,in detail, about the importance of SQC in textile industries.
Draw frequency polygon from the following values,
Class: 10-20 20-30 30-40 40-50 50-60 60-70
frequency : 8 12 20 10 8 5
OR
Draw ‘less than Ogive’ (cumulative frequency curve’) from the following
Information:
Class: 10-20 20-30 30-40 40-50 50-60 60-70 70-80
Frequency : 5 8 16 30 50 20 11

Find Mean from the following data,
Class: 30-40 40-50 50-60 60-70 70-80
Frequency: 3 2 7 7 1
Find the Median from the following information
Class: 0-10 10-20 20-30 30-40 40-50
Frequency : 3 7 15 10 5

OR
Find the Mode from the following information
Class: 0-200 200-400 400-600 600-800 800-1000
Frequency : 15 22 15 30 18
Calculate Q1 from the following information.
Class : 40-45 45-50 50-55 55-60 60-65
Frequency: 8 24 30 20 18

Explain characteristics of Normal distribution

Explain X -chart and state its control limits.
OR
Explain characteristics of Binomial distribution.
The mean and variance of a binomial distribution are 15 and 6 respectively, find
the values of n, p and q.
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Q.5 (a) Explain T-test in detail

(b) Use F-test to decide whether the following two samples have been drawn from

the same normal population or not.[ use f value at 5%]
Sample Size[n] Mean[X] Y (X-X )
A 6 68 60
B 10 68 130
OR
Q.5 (a) Explain X >~ Test

(b) On examining cloth rolls for defects ,following defects were found
7, 12,3,7,6, 9, 0, 20, 21, 5, 4. 3. 10. 8. 20

Plot ‘C-chart’ and give your comments whether the process is in the state of

statistical quality control or not.
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